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A cylindrical rubber cord is stretched at a constant rate of 2 cm per second. Assuming its .
volume does not change, how fast is its radius shrinking when its length is 100 cm and its radius
is 10 cm. (Note: Volume of a cylinder is V = mr2h)
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A trapezoidal tank with a height of 8m, bottom base of 24m, top base of 36m, and width of 10m, is
being filled with water. How fast does the water level rise in the tank when the water level is 4m

high and water pours in at 20m*/min? (Note: Volume of a trapezoidal prism is V = -:- (by + by)hw)
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